





















$$V_{2n-2k-1}^{1} = 1 - \delta + \delta^{2} \boxed{1 - \delta + \delta^{2} V_{2n-2k+3}^{1}}$$
  
=  $1 - \delta + \delta^{2} (1 - \delta) + \delta^{4} \boxed{1 - \delta + \delta^{2} V_{2n-2k+5}^{1}}$   
=  $1 - \delta + \delta^{2} (1 - \delta) + \delta^{4} (1 - \delta) + \delta^{6} V_{2n-2k+5}^{1}$   
.  
.  
.  
=  $(1 - \delta) (1 + \delta^{2} + \delta^{4} + \dots + \delta^{2k})$   
=  $\frac{1 - \delta^{2k+1}}{1 + \delta}$ 

$$n \longrightarrow \infty$$
  
$$t = 2n - 2k - 1$$
  
$$x_{t} = \frac{1 - \delta^{2k+1}}{1 + \delta} = \frac{1 - \delta^{2n-t}}{1 + \delta} \xrightarrow{n \to \infty} \frac{1}{1 + \delta}$$



## Pretrial Negotiation



Date	Proposer	Settlement
2n	Р	
2n-1	D	
2n-2	Р	
2n-3	D	
2n-4	Р	
2n-5	D	
2	Ρ	
1	D	